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Important Critical Reasoning Questions for IBPS Clerk Mains 
 

Directions (1-3): The critical reasoning question is 

based on a short argument, a set of statements, or a 

plan of action. For each question, select the best 

answer of the choices given and explain why the 

chosen answer is the right fit. 

 

1) Statements: The metals that do not react easily with 

atmospheric elements, water, vapour, dust, etc. are 

called precious metals. Of all the precious metals, 

platinum is one of the strongest and most durable. 

Which of the following inferences cannot be 

complied with the text? 

a) Platinum does not react with atmospheric elements 

easily. 

b) Platinum is among the strongest metals on earth. 

c) Platinum is precious because it is a metal that is 

strong and durable. 

d) Both a and b 

e) Both b and c 

 

2) Statements: The stars that shine the brightest usually 

comprise of variety of gases, covering up to 70% of the 

total size of the star and are called as distant suns. Alpha 

Cen is one of the largest distant suns. 

Which of the following holds? 

a) Alpha Cen is more than 70% gaseous. 

b) The core of Alpha Cen is less than 30% solid. 

c) Alpha Cen is one of the brightest stars. 

d) Alpha Cen is more than 70% gaseous therefore it is a 

distant sun. 

e) None of the above. 

 

3) Statements: All the people who voted for the mayor 

to step-down from his position are now repenting 

because the newly elected mayor is even more 

corrupt and inefficient. 

Which of the following inferences is true based on 

the given facts? 

a) The people elected a new and better mayor. 

b) The people made the previous mayor resign and he 

was corrupt and inefficient. 

c) The new mayor coerced the people to make the 

previous mayor step down. 

d) The people who did not vote for the previous mayor 

to step down are frowning over the new mayor. 

e) The previous mayor made the new mayor corrupt and 

inefficient. 

 

Directions (4-5): Each question given below consists 

of two arguments numbered I and II. You have to 

decide which of the arguments is a ‘strong’ 

argument and which is a ‘weak’ argument. 

Give answer, 

a) If only argument I is strong. 

b) If only argument II is strong. 

c) If either argument I or II is strong. 

d) If neither argument I nor II is strong. 

e) If both arguments I and II are strong. 

 

4) Statement: 

Should the consumption of aerated drinks be banned in 

India? 
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Arguments: 

I) This is the only way to reduce the risk of exposing 

people to some diseases. 

II) There is no confirmed evidence that such products 

have adverse effects on human body. 

 

5) Statement: 

Should admission to all professional courses be made 

on the basis of past academic performance rather than 

through entrance tests? 

Arguments: 

I) It will be beneficial to those candidates who are 

unable to bear the expenses of entrance tests. 

II) Many deserving candidates securing high marks in 

their qualifying academic examinations do not perform 

well in such entrance tests. 

 

Directions (6-7): In each of the following questions, a 

statement is followed by two assumptions numbered 

I and II. An assumption is something that is 

supposed or taken for granted. You have to consider 

the statement and the following assumptions and 

decide which of the assumptions is implicit in the 

statement. 

Give answer, 

a) If only assumption I is implicit. 

b) If only assumption II is implicit. 

c) If either assumption I or II is implicit. 

d) If neither assumption I nor II is implicit. 

e) If both assumptions I and II are implicit. 

 

6) Statement: 

ABC Bank has announced reduction in the interest rates 

on retail lending with immediate effect. 

Assumptions: 

I) ABC bank may be able to attract more customers for 

availing retail loans. 

II) Other banks may also reduce the lending rates in 

order to be in competition. 

 

7) Statement: 

People are asked to switch off their mobile phones 

while they are inside the auditorium. 

Assumptions: 

I) Generally people do not bring mobile phones when 

they come to attend functions in the auditorium. 

II) People can keep their mobile phones in the lockers 

made available outside the auditorium. 

 

Directions (8-9): In each question below a statement 

is followed by two assumptions numbered I and II. 

An assumption is something supposed or taken for 

granted. You have to consider the statement and the 

following assumptions and then decide which of the 

assumptions is implicit in the statement. 

Give answers: 

(a) If only assumption I is implicit. 

(b) If only assumption II is implicit. 

(c) If either assumption I or II is implicit. 

(d) If neither assumption I nor II is implicit. 

(e) If both assumption I and II are implicit. 

 

8) Statement: 

Research suggests that adults need at least 7-8 hours of 

sleep each night to be well rested. 

Assumptions: 

I). Not getting enough sleep can lead to diminished 

brain performance. 

II). People are now sleeping less than they did in the 

past. 

 

9) Statement: 

The Scheme of ‘Universalisation of women helpline’ is 

intended to provide 24-hours immediate and emergency 

response to women affected by violence through referral 

and information about women related government 

schemes program across the country through a single 

uniform number. 
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Assumptions: 

I). Any woman or girl facing violence within 

public/private will ensure prompt and meaningful 

response towards every call received at the helpline. 

II). Women helpline supervisor will ensure that all calls 

are being attended properly and every call has been 

taken to its logical conclusion by the responder, as early 

as possible. 

 

Directions (10-11): Each question given below is 

followed by two arguments numbered I, II, and III. 

You have to identify the strong and weak arguments 

among them. 

 

10) Statement: 

Should cricket betting be legalized in India? 

Arguments: 

I). Yes, it is happening anyway. Why not make it legal? 

II). No, betting in India is considered a root cause of 

many problems like bankruptcy, suicides, etc. 

III). Yes, it would increase revenue for the government 

in the form of taxes. 

IV). Yes, it is legalized in many developed countries 

like the UK. 

a) If only III is a strong argument 

b) If only IV is a strong argument 

c) If both II and III are strong arguments 

d) If only II is a strong argument 

e) If both I and III are strong arguments 

 

11) Statement :                 

‘Andhra Pradesh government has decided to introduce 

English medium in place of Telugu medium for class 1 

to class 6 in government schools from the next 

academic year’. Is this decision good? 

Arguments : 

I). Yes, English Medium education to their children is a 

dream for a large number of parents of backward 

classes. 

II). No, if is introduced from the next year students will 

be put to inconvenience given the quality of our 

teachers as they are not proficient enough to teach in 

English. 

III). No, there are many IAS and IPS officers who have 

studied in their mother language. 

IV). Yes, English has always been a problem for the 

students of government schools in competitive exams 

and Interviews. 

a) only I is strong 

b) only III is strong 

c) I, III, and IV are strong 

d) I, II, and IV are strong 

e) All the arguments are strong 

 

Directions (12-13): In each of the following 

questions, two statements numbered I and II are 

given. There may be cause and effect relationship 

between the two statements. These two statements 

may be the effect of the same cause or independent 

causes. These statements may be independent causes 

without having any relationship. Read both the 

statements in each question and mark your answer 

as 

(a) If statement I is the cause and statement II is its 

effect; 

(b) If statement II is the cause and statement I is its 

effect; 

(c) If both the statements I and II are independent 

causes; 

(d) If both the statements I and II are effects of 

independent causes; and 

(e) If both the statements I and II are effects of some 

common cause 

 

12) Statement I: The government believes since access 

to water is a fundamental right, a ban cannot be imposed 

on the sale of water. 
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Statement II: Therefore, finding an alternative solution 

to plastic bottles is necessary. 

 

13) Statement I: Low body weight may increase your 

risk for low bone mineral density and osteoporosis. 

Statement II: Being underweight puts people at higher 

risk of dying, just as obesity does, new research found. 

 

Directions (14): In each of the following questions, a 

statement is followed by two assumptions numbered 

I and II. An assumption is something that is 

supposed or taken for granted. You have to consider 

the statement and the following assumptions and 

decide which of the assumptions is implicit in the 

statement. 

14) Statement: 

Intake of Vitamin E tablets improves circulation and 

keeps your complexion in a glowing condition. 

Assumptions: 

I). People like to have a glowing complexion. 

II). Complexion becomes dull when there is no 

circulation. 

a) Only assumption I is implicit. 

b) Only assumption II is implicit. 

c) Either assumption I or II is implicit. 

d) Neither assumption I nor II is implicit. 

e) Both assumptions I and II are implicit. 

 

Directions (15-17): Each question given below 

consists of two arguments numbered I and II. You 

have to decide which of the arguments is a ‘strong’ 

argument and which is a ‘weak’ argument. 

Give answer, 

a) If only argument I is strong. 

b) If only argument II is strong. 

c) If either argument I or II is strong. 

d) If neither argument I nor II is strong. 

e) If both arguments I and II are strong. 

 

15) Statement: 

Are nuclear families better than joint families? 

Arguments: 

I) No. Joint families ensure security and also reduce the 

burden of work. 

II) Yes. Nuclear families ensure greater freedom in 

decision making. 

 

16) Statement: 

Should reading books as soft copies be reduced? 

Arguments: 

I) No. This is the only way to reduce the usage of paper 

which is in short supply. 

II) Yes.  Constant exposure to digital screen is harmful 

to human eyes. 

 

17) Statement: 

Should the government educational institutions be 

privatized? 

Arguments: 

I) Yes. Privatization will make these institutions 

financially healthy, competitive and quality conscious. 

II) No. Standard of these institutions will fail. 

 

Directions (18-19): In each question below a 

statement is followed by two assumptions numbered 

I and II. An assumption is something supposed or 

taken for granted. You have to consider the 

statement and the following assumptions and then 

decide which of the assumptions is implicit in the 

statement. 

Give answers: 

(a) if only assumption I is implicit. 

(b) if only assumption II is implicit. 

(c) if either assumption I or II is implicit. 

(d) if neither assumption I nor II is implicit. 

(e) if both assumption I and II are implicit. 
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18) Statement: Gold price touched a six-year high of 

over Rs. 40,000 per 10 gram of 24k gold and experts 

expect the price of the yellow metal to go up in 

future.Gold prices are indicating that global worries are 

still intact. If we compare gold with S&P and gold with 

bond yield, still the ratio is very low, so gold has a lot of 

steam left to go much higher. 

Assumptions: 

I. Yellow metal is performing better as an investment 

option in comparison to mutual funds, equities, real 

estate, and fixed deposits. 

II. Many global investors are looking for safer 

investment options including gold as fears over a 

recession continue to grow. 

 

19) Statement: Good nutrition is important to physical 

and intellectual development of young children. 

Assumptions: 

I. A safe environment prevents and reduces injuries for 

young children who are only beginning to recognize 

dangerous situation. 

II. Young children need to develop healthy eating and 

physical activity habits early on. 

 

Directions (20-21): In each of the following 

questions, two statements numbered I and II are 

given. There may be cause and effect relationship 

between the two statements. These two statements 

may be the effect of the same cause or independent 

causes. These statements may be independent causes 

without having any relationship. Read both the 

statements in each question and mark your answer 

as 

(a) If statement I is the cause and statement II is its 

effect; 

(b) If statement II is the cause and statement I is its 

effect; 

(c) If both the statements I and II are independent 

causes; 

(d) If both the statements I and II are effects of 

independent causes; and 

(e) If both the statements I and II are effects of some 

common cause. 

 

20) Statement I: 2.2 million children in Delhi have 

irreversible lung damage due to the poor quality of the 

air. 

Statement II: Number of people who died every hour 

in Delhi because of air pollution has increased three 

times in nearly 20 years. 

 

21) Statement I: Many foreign companies set up 

industries in India, especially in the pharmaceutical, 

BPO, Petroleum, Manufacturing, and chemical sectors. 

Statement II: This helped to reduce the level of 

unemployment and poverty in the country. 

 

22) Directions: The question consists of a statement 

and two assumptions. The student must first 

determine whether each statement is true. Choose 

the appropriate option after reading the three 

statements carefully. 

Statement: 

"Everyone desires to buy a personal computer." - 

Statement of a college student. 

Assumptions: 

I). Personal computers are a need. 

II). Use of computer improves one's skill of using it. 

a) Only I implicit 

b) Only II implicit 

c) Both I and II implicit 

d) Either I or II implicit 

e) Neither I nor II implicit 

 

Directions (23-24): Each of the following questions 

consists of a statement followed by two arguments I 

and II. 

Give answer: 
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(a) If only argument I is strong 

(b) If only argument II is strong 

(c) If either I or II is strong 

(d) If neither I nor II is strong and 

(e) If both I and II are strong. 

 

23) Statement: Should all cars be banned to curb 

pollution. 

Argument: 

I). No. Banning private cars to lower pollution is 

useless, senseless. 

II). No. Instead of banning cars, experts suggest getting 

water sprinkles and vacuum cleaners to clean the dust 

on the roads. 

 

24) Statement: Should plastic bags be banned from 

grocery stores. 

Argument: 

I). Yes. When you dispose plastic it eventually washes 

away into the ocean where innocent creatures die. 

II). Yes. Plastic bags are harmful for nature 

 

Directions (25-26): In each of the following 

questions, two statements numbered I and II are 

given. There may be cause and effect relationship 

between the two statements. These two statements 

may be the effect of the same cause or independent 

causes. These statements may be independent causes 

without having any relationship. Read both the 

statements in each question and mark your answer 

as 

(a) If statement I is the cause and statement II is its 

effect; 

(b) If statement II is the cause and statement I is its 

effect; 

(c) If both the statements I and II are independent 

causes; 

(d) If both the statements I and II are effects of 

independent causes; and 

(e) If both the statements I and II are effects of some 

common cause 

 

25) Statement I: High cost of education has been a 

concerning for aspiring students and their parents, and 

then one should evaluate the option of availing an 

education loan which is currently offered by all reputed 

banks and NBFCs in India. 

Statement II: High cost of education is making it hard 

for students to chase their dreams for higher studies in 

reputed colleges, both in India and in foreign 

universities. 

 

26) Statement I: Flooding in major onion producing 

states leads to spike in prices. 

Statement II: Price rise of onions is due to incessant 

rains and flood like situation in onion-producing states. 

 

Directions (27-29): In each question below is given a 

statement followed by two assumptions numbered I 

and II. An assumption is something supposed or 

taken for granted. You have to consider the 

statements and the following assumption and decide 

which of the assumption(s) is/are implicit in the 

statement. 

 

27) Statement: 

‘Biggest discount sale: 

Flat 60% off on all sports shoes and sports apparel 

Women’s and Kidswear – Buy one and get two free’ 

An Advertisement by Brand Factory, India’s leading 

Shopping mall. 

Assumptions: 

I). The brand factory is offering 60% off on sports shoes 

in order to promote the ‘Walk India’ campaign. 

II). People get attracted to discounts offered by 

shopping malls. 

III). The brand factory will get a turnover of 

Rs.1,500crore this annual year. 
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a) Only I is implicit 

b) Only II is implicit 

c) Only III is implicit 

d) All I, II, and III are implicit 

e) None of them is implicit 

 

 

 

 

28) Statement: 

Millions trust Grammarly free writing app to make their 

messages, documents, and posts clear, mistake-free, and 

effective. 

Assumptions: 

I). People generally commit mistakes while writing 

documents, posts, etc. 

II). There are no other grammar checking apps available 

for free. 

III). People who are not good at written English only 

use Grammarly. 

a) Only I is implicit 

b) Only II is implicit 

c) Only III is implicit 

d) All I, II, and III are implicit 

e) None of them is implicit 

 

29) Statement: 

‘Unlike the last year, hope 2020 brings good luck to me 

and fulfills my dreams’, Suresh said to his brother. 

Assumptions: 

I). Suresh’s brother is the only person who listens to 

him. 

II). Suresh could not fulfill his dreams in 2019. 

III). Suresh believes in luck. 

a) Only I is implicit 

b) Only II is implicit 

c) Only III is implicit 

d) All I, II, and III are implicit 

e) Only II, and III is implicit 

 

Directions (30-32): Each of the following questions 

consists of a statement followed by two arguments I 

and II.   

Give answer: 

(a) If only argument I is strong 

(b) If only argument II is strong 

I If either I or II is strong 

(d) If neither I nor II is strong and 

(e) If both I and II are strong. 

 

30) Statement: Trees play an especially important role 

in enhancing our quality of life in the urban 

environment and this is acknowledged in the 

Governments Sustainable Development Strategy. 

Arguments: 

I). Trees have the highest and lowest “return on 

investment” for pollution reduction. 

II). Trees improve air quality in their immediate 

vicinity, about 100 feet or so. 

 

31) 

Statement: The main tax benefit of an EMI scheme is 

that employees do not have to pay the income tax that 

would normally be charged on the market value of any 

shares or options granted to them 

Arguments: 

I). The borrowers have to pay the monthly 7nstalments 

or EMIs until they are done with the principal amount 

and the applicable interest rate. 

II). EMI gives you power to buy items which a 

consumer wouldn’t be able to buy at one go. 

 

32)  

Statement: Recent studies have supported the idea that 

working from home—for the right people—can increase 

productivity and decrease stress. Research. 

Arguments: 
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I). Working from home can allow workers to minimize 

distractions and increase the time they spend focused on 

a project. 

II). For employers telecommuting can limit absences, 

increase productivity, and save money. 

 

Directions (33-35): In each of the following 

questions, two statements numbered I and II are 

given. There may be cause and effect relationship 

between the two statements. These two statements 

may be the effect of the same cause or independent 

causes. These statements may be independent causes 

without having any relationship. Read both the 

statements in each question and mark your answer 

as  

(a) If statement I is the cause and statement II is its 

effect; 

(b) If statement II is the cause and statement I is its 

effect; 

I If both the statements I and II are independent causes; 

(d) If both the statements I and II are effects of 

independent causes; and 

(e) If both the statements I and II are effects of some 

common cause 

 

 

33)  

Statement I: When you need cash you can usually just 

turn to the nearest ATM, but ATM owners and your 

bank typically place limits on the amount you can 

withdraw. 

Statement II: These daily limits could prevent you 

from withdrawing more than a few hundred dollars in 

any 24-hour period. 

 

34) Statement I: Creating a longer day or a longer 

workweek for employees must have solid justification 

based on business need or a need to improve working 

conditions for staff. 

Statement II: Extending work hours could mean 

requiring more hours each day temporarily or expecting 

employees to work more days in the week, which could 

eliminate days for some workers. 

 

35) Statement I: According to a study of young adults 

in the U.K., 84% of those tracked experienced back pain 

during the last year, mainly due to being hunched over 

smartphones, tablets, and computers. 

Statement II: Using your phone too much can cause 

inflammation in your tendons and enhance existing 

conditions, like tendinitis and carpal tunnel. 

 

Directions (36-38): One statement is given followed 

by two arguments, I and II. You have to consider the 

statement to be true, even if it seems to be at 

variance from commonly known facts. You are to 

decide which of the given arguments be definitely 

drawn from the given statement. 

a) Only argument I is strong. 

b) Only argument II is strong. 

c) Either argument I or II is strong. 

d) Neither argument I nor II is strong. 

e) Both arguments I and II are strong. 

 

36) Statement: Researchers found that post-meal walk 

as short as 15 minutes helps in digestion and improve 

blood sugar levels. 

Argument: 

I). 15 minutes of walking after post meal can help lower 

blood sugar level. 

II). Walking help produce serotonin, a neurotransmitter 

that promotes good sleep, helps regulate appetite, 

improves learning and memory and increase positive 

feelings. 

 

37) Statement: Gun control is an effective way to 

control the crime. 

Argument: 
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I). More handguns in circulation equals more violent 

crime. 

II). Owing a handgun increases person’s risk of being 

killed 

 

38) Statement: Religious practice appears to have 

enormous potential for addressing today’s social 

problems. 

Argument: 

I). Strong and repeated evidence indicates that regular 

practice of religion has beneficial effects in nearly every 

aspect of social concern and policy. 

II). Religious involvement linked to less depression and 

less alcohol and drug use. 

 

Directions (39-41): In each question below a 

statement is followed by two assumptions numbered 

I and II. An assumption is something supposed or 

taken for granted. You have to consider the 

statement and the following assumptions and then 

decide which of the assumptions is implicit in the 

statement. 

Give answers: 

(a) if only assumption I is implicit. 

(b) if only assumption II is implicit. 

I if either assumption I or II is implicit. 

(d) if neither assumption I nor II is implicit. 

(e) if both assumption I and II are implicit. 

 

39) Statement: The centre on Monday warned all its 

employees to come in time to offices, failure of which 

might attract disciplinary action. 

Assumptions: 

I). An interdependent work environment needs punctual 

employees to keep things running smoothly. 

II). Lack of punctuality affects the workplace and the 

people. 

 

40) Statement: Several independent studies, including 

the nationwide rural survey Annual status of Education 

Report(ASER),  have been repeatedly highlighting the 

poor quality of education and pointing out serious gaps 

even in basic foundation skills like reading and 

arithmetic in schools in rural Tamil Nadu (both 

Government and Private) 

Assumptions: 

I). Solving a problem of this magnitude is only possible 

by the convergence of aligned efforts that focus on 

learning outcomes, continually measure progress and 

most importantly ensuring accountability by involving 

parents in their children education. 

II). The village gathers together to see children perform 

role plays and songs. 

 

41) 

Statement: An unemployed person is eligible to apply 

for a loan amount of Rs. 50,000 under cash loan 

scheme. 

Assumptions: 

I). This scheme aims to provide a platform for 

unemployed youths in India so that they can start their 

business ventures without any hassle. 

II). Any individuals belonging to the 18-45 age groups 

can apply and avail this loan. 

 

Directions (42-44): In each of the following 

questions, a statement is followed by two 

assumptions numbered I and II. An assumption is 

something that is supposed or taken for granted. 

You have to consider the statement and the following 

assumptions and decide which of the assumptions is 

implicit in the statement. 

Give answer, 

a) If only assumption I is implicit. 

b) If only assumption II is implicit. 

c) If either assumption I or II is implicit. 

d) If neither assumption I nor II is implicit. 
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e) If both assumptions I and II are implicit. 

 

42)  

Statement: 

“Everyone desires to buy a personal computer”, 

statement of a college student. 

Assumptions: 

I). Personal computer is not a need but it is bought as a 

luxury product. 

II). Use of personal computer could improve the quality 

of the skill. 

 

43) Statement: 

“The city’s top ranker for S.S.L.C. examination this 

year will be definitely from our school”- Principal of a 

school ‘X’. 

Assumptions: 

I). The teachers of the school have prepared their 

students thoroughly. 

II). Mostly of the intelligent students in the city are 

studying in schools ‘X’. 

 

44) Statement: 

“I have not received telephone bills for nine months in 

spite of several complaints”- A telephone customer’s 

letter to the editor of a daily. 

Assumptions: 

I). Every customer has a right to get bills regularly from 

the telephone company. 

II). The customer’s complaints points to defect in the 

service which is expected to be corrected. 

 

Directions (45-47): Each question given below 

consists of two arguments numbered I and II. You 

have to decide which of the arguments is a ‘strong’ 

argument and which is a ‘weak’ argument. 

Give answer, 

a) If only argument I is strong. 

b) If only argument II is strong. 

c) If either argument I or II is strong. 

d) If neither argument I nor II is strong. 

e) If both arguments I and II are strong. 

 

45) Statement: 

Should internal assessment in colleges be abolished? 

Arguments: 

I). Yes, this will help reduce the possibility of 

favouritism. 

II). No, teaching faculty will lose control over the 

students. 

 

46) Statement: 

Are films responsible for dwindling moral values in the 

society? 

Arguments: 

I). Yes, some films are full of violence. 

II). No, films act as watchdogs of the society. 

 

47) Statement: 

Should genetically-modified crops be encouraged in 

India? 

Arguments: 

I). Yes, genetically-modified crops are known to 

process tremendous potential to increase agriculture 

productivity, reduce the cost of production and provide 

cheaper stable food. 

II). No, there are fears that genetically-modified seeds 

pose a threat to the environment and bio-safety, 

therefore they should not be encouraged unless they are 

assessed for their long-term environment impact 

 

Directions (48-49): In each of the following 

questions, two statements numbered I and II are 

given. There may be cause and effect relationship 

between the two statements. These two statements 

may be the effect of the same cause or independent 

causes. These statements may be independent causes 

without having any relationship. Read both the 
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statements in each question and mark your answer 

as 

(a)If statement I is the cause and statement II is its 

effect; 

(b)If statement II is the cause and statement I is its 

effect; 

IIf both the statements I and II are independent causes; 

(d)If both the statements I and II are effects of 

independent causes; and 

(e)If both the statements I and II are effects of some 

common cause. 

 

48) Statement I: Households lacked liquidity and could 

not do transactions for daily items. 

Statement II: Small shopkeepers who only accepted 

cash went into losses and some even shut down. 

 

49) Statement I: To reduce the impact of radiation 

exposure on our body, the federal communication 

commission has recommended maintaining a minimum 

distance of 20cm between the laptop and the user. 

Statement II: Laptops are one of the highest sources of 

EMF as their underside releases high frequency EMF 

radiations. 

 

50)  

In the following question a statement is given 

followed by some more statements. You have to read 

all the statements and decide which of them weakens 

the statement. 

The NITI Aayog released the results of a study warning 

that India is facing its “worst” water crisis in history and 

that the demand for potable water will outstrip supply 

by 2030, if steps are not taken. 

Which of the following weakens the above 

statement? 

a) Currently 600 million Indians face high to extreme 

water shortage and about two lakh people die every year 

due to inadequate access to potable water. 

b) People may face water scarcity and the country will 

suffer a loss of up to 6 per cent of the GDP. 

c) The country’s nearly 70 per cent of water is 

contaminated, which puts India at the 120
th

 position 

among 122 countries in the water quality index. 

d) The ranks of all states in the index on the composite 

water management, comprising 9 broad sectors with 28 

different indicators covering various aspects of ground 

water, restoration of water bodies, irrigation, farm 

practices, drinking water, policy and governance. 

e) The condition of availability of water currently in 

India is better than the water crisis which India had 

faced in 1960. 

 

Answer Key with Detailed Explanation 

 

Directions (1-3): 

1) Answer: e 

The statement clearly states that precious metals do not 

react with atmospheric elements easily and that platinum 

is a precious metal. So option a) is not the answer. 

Based on the text, we know that platinum is one of the 

strongest among the precious metals. But it cannot be 

determined whether it is among the strongest metals on 

earth. The definition of precious metals given in the text 

proves that option 3 does not comply with the text. 

Hence both options b and c cannot be complied with the 

text, so the answer is option e. 

 

2) Answer: c 

Since the brightest stars are called distant suns, Alpha 

Cen has to be among the brightest stars. So, option c is 

correct. 

Option b is out of context. Option a and d may or may 

not be true, it cannot be determined from the given text. 

 

3) Answer: b 
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The words ‘even more’ indicate that the previous mayor 

was also corrupt and inefficient as the new one. So, 

option b is a correct inference. 

It is evident that the new mayor is not better, so option a 

is incorrect. As for options c, d and e, they are out of 

context and cannot be inferred from the given text. 

 

Directions (4-5): 

4) Answer: b 

The use of only in I makes it invalid. A product must not 

be banned unless its harmful effects have been proved. 

So, Argument II is strong. 

 

5) Answer: d 

A policy to select deserving candidates cannot be 

abolished just because of the expenditure it entails. So, I 

is invalid. Students who are intelligent enough to score 

good marks in academic exams have no reason not to 

perform well in entrance tests. So, II is also invalid. 

 

Directions (6-7): 

6) Answer: a 

The reduction in interest rate will certainly attract more 

customers for availing retail loans. So, I is implicit. Even 

though reducing interest rate is a good step to attract 

more customers, such a policy on other banks cannot be 

ascertained. So, II is not implicit.  

 

7) Answer: d 

Such an instruction has been made keeping in mind that 

a lot of people come with mobile phones to the 

auditorium. So, I is not implicit. There is no information 

about the locker facility, II is also not implicit. 

 

Directions (8-9):  

8) Answer: a 

Only I is implicit 

 

9) Answer: e 

Both I and II are implicit. 

 

Directions (10-11): 

10) Answer: d 

Argument I: It is a weak argument. Betting cannot be 

legalized just because it is happening anyway. 

Argument II: It is a strong argument because it points out 

that betting has a lot of negative effects on the lives of 

people. 

Argument III: It is not a strong argument. It might 

generate revenue for the government if taxes are laid on 

it, but it should not be legalized just for the reason it 

generates revenue. 

Argument IV: It is not a strong argument because it 

cannot be legalized as it was legalized in some other 

country. 

 

11) Answer: d 

Argument I: It is strong because it can fulfill the dream 

of a lot of parents who cannot afford English medium 

education at a higher cost. 

Argument II: It is a strong argument because it mentions 

the problems that would be faced if it is introduced 

without proper training. 

Argument III: It is a weak argument because there may 

be some people who have succeeded, but just for that 

reason, the decision of introducing the English medium 

cannot be considered wrong. 

Argument IV: It is a strong argument because the 

introduction of English medium may be a solution for the 

problem. 

 

Directions (12-13):  

12) Answer: a 

Statement I is cause and II is it effect. 

 

13) Answer: e 

Both are effects of common cause. 
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14) Answer: e 

Only those features liked by people will be highlighted. 

So, I is implicit. If circulation is improved, complexion is 

improved. So, II is also implicit. 

 

Directions (15-17):  

 

15) Answer: e 

Joint family has more members thus improving the 

security and lesser work. On the other hand, in nuclear 

family, with lesser members responsibility will be less 

and hence more freedom. So, both arguments are strong. 

 

16) Answer: b 

I says that paper is in short supply. But reading books as 

soft copies is not the only way to reduce its usage. So, I 

is not strong. Reading books as soft copies leads to eye 

problems. So, II is strong. 

 

17) Answer: a 

Privatization leads to the betterment of the institute. So, I 

is strong. Also, privatization would in no way deteriorate 

the quality of education. So, II is not strong. 

 

Directions (18-19):  

18) Answer: a 

Only assumption I is implicit. 

 

19) Answer: b 

Only assumption II is implicit. 

 

Directions (20-21):  

20) Answer: e 

Both are effects of air pollution in Delhi. 

 

21) Answer: a 

Statement I is cause and II its effect of globalization. 

 

22) Answer: e 

The statement does not suggest any need for personal 

computers and hence I is not implicit. 

The benefits of using a computer, finds no mention in the 

statement and hence II is not related to the statement. 

 

Directions (23-24): 

23) Answer: b 

Only II is strong 

 

24) Answer: e 

Both I and II are strong 

 

Directions (25-26):  

25) Answer: b 

Statement II is cause and Statement I is its effect. 

 

26) Answer: e 

Both are effects of common cause 

 

Directions (27-29): 

27) Answer: b 

Assumption I: It is not implicit because there is nothing 

mentioned about the ‘Walk India’ program. 

Assumption II: The shopping malls give discounts 

because people get attracted to discounts. So this is 

implicit. 

Assumption III: The turnover of the company may 

increase because of the offers, but we cannot assume the 

turnover of the company as nothing is mentioned in the 

statement. 

 

28) Answer: a 

Assumption I: Grammarly is used by millions of people 

because they generally commit grammatical mistakes 

unknowingly while writing documents, articles, etc. So, 

this is implicit. 

Assumption II: This cannot be assumed. As Grammarly 

is used by millions of people, it doesn’t mean that there 

are no other free apps. 

http://bit.ly/2WRWaPG
http://www.ibpsguide.com/


 

Important Critical Reasoning Questions for IBPS Clerk Mains 
 

Page 14 of 16 

Subscribe Our Yearly Mock Test Pack to Get 1000+ Mock Test for Bank+SSC+Railway Exams 
 

Content Partner: www.ibpsguide.com 

 

Assumption III: People who are also good at written 

English may use Grammarly to make sure they do not 

commit any mistakes while writing in a hurry. So, this is 

not implicit. 

 

29) Answer: e 

Assumption I: This assumption is not implicit. We 

cannot assume that Suresh's brother is the only person 

who listens to him. 

Assumption II: It is implicit. The phrase ‘unlike the last 

year’ in the sentence indicates that 2019 could not bring 

luck and Suresh could not fulfill his dreams. 

Assumption III: This is implicit. From the statement, it is 

clear that Suresh believes in luck. 

Assumptions II and III follow. So, option e is correct. 

 

Directions (30-32): 

30) Answer: e 

Both argument I and II are strong. 

 

31) Answer: b 

Only argument II is strong 

 

32) Answer: e 

Both argument I and II are strong. 

 

Directions (33-35):  

33) Answer: a 

Statement I is cause and II is its effect. 

 

34) Answer: e 

Both are effects of companies extending work hours for 

employees. 

 

35)Answer: e 

Both are effects of using smart phone. 

Directions (36-38): 

 

36) Answer: a 

Only argument I is strong. 

 

37) Answer: d 

Neither Argument I nor Argument II is strong. 

 

38) Answer: a 

Only argument I is strong. 

 

Directions (39-41):  

39) Answer: e 

Both assumption I and II are implicit 

 

40) Answer: a 

Only assumption I is implicit 

 

41) Answer: e 

Both assumption I and II are implicit 

 

Directions (42-44): 

42) Answer: d 

The statement is made by a college student. It implies 

that personal computer is required to supplement the 

study. Therefore, it cannot be regarded as a luxury item. 

It is not possible to derive from the statement that use of 

personal computer improves quality of skill. 

 

43) Answer: a 

The Principal of school X has said that the city’s top 

ranker for SSLC examination this year will be definitely 

from his school. It implies that the teachers of the school 

X have prepared their students thoroughly. In order to do 

better in the examination hard labor is also necessary 

along with intelligence. Therefore assumption II may be 

or may not be valid. 

 

44) Answer: e 

The customer’s complaint is that he has not received 

telephone bills for nine months – it implies that a 
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customer expects telephone bills regularly. Similarly, the 

assumption II is also implicit. 

 

Directions (45-47): 

45) Answer: a 

The question is whether the internal assessment in 

colleges should be abolished. In following internal 

assessment in colleges, it is likely that assessment may 

not be done impartially. Some teachers or professors 

might favor certain students. This would result in these 

students getting more marks than the other students. 

According to the ‘Yes’ argument, abolishment of internal 

assessment in college would curtail the possibility of 

favoritism to a large extent. Since this argument is to the 

point and directly related to the question, it is strong. The 

‘No’ argument is weak because it does not mention how 

the teaching faculty would lose control over the students. 

 

46) Answer: d 

The question is whether films are responsible for 

dwindling moral values in the society, The ‘Yes’ 

argument is weak because it is not relevant to the 

question. It talks about some films full of violence, 

which may or may not be true but is not valid here. The 

‘No’ argument is also weak because the status of the 

society cannot be judged on the basis of what films 

depict. The ‘No’ argument is again not relevant here. 

 

47) Answer: e 

The question is whether genetically-modified crops 

should be encouraged in India. The ‘Yes’ argument is 

strong because it gives several advantage of using 

genetically-modified crops. Use of this technology in 

agriculture will solve our problem of food shortage and it 

is possible to cultivate staple food with its help. The ‘No’ 

argument is also strong because since this technology 

was invented in the recent past, it has not stood through 

the test of time. We are still not aware of its effects on 

the environment. It is possible that it may have adverse 

effects on the environment and it may not be biologically 

safe to use them in our diet. Since both the arguments are 

directly related to the question, they are strong. 

 

Directions (48-49):  

48) Answer: e 

Both are effects of demonetization. 

 

49) Answer: b 

Statement II is cause and I is its effect of using laptop. 

 

50) Answer: e 

Except (5), all the statement strengthens the given 

statement by pointing out the effects of water scarcity 

India is currently facing and problems related to it but 

option (e) states that the crisis was more in 1960 from 

now which contradicts the given statement as it states 

that India is facing its “worst” water crisis in history. So 

(5) weakens the given statement. 
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